
PARTS INDEX:
A. TAB-TITE™ SPRING TRAY (QTY. 1)
B. TAB-TITE™ END CUP (QTY. 2)
(CUPS MAY VERY DEPENDING ON TAB-TITE™ VERSION)
C. #4 X 3/8” SHEET METAL SCREW (QTY. 10)
D. RAM MOUNTING HARDWARE PACK (QTY. 1)

ALIGN (B) END CUPS WITH HOLES ON EACH 
END OF (A) SPRING TRAY. SECURE CUPS TO 
SPRING TRAY USING (C) SCREWS.
DO NOT OVER-TIGHTEN SCREWS

A BC
D

RAM TAB-TITE™ ASSEMBLY INSTRUCTIONS

USE MOUNTING SCREWS AND NUTS 
PROVIDED IN (D) HARDWARE PACK 

TO ATTACH TAB-TITE™ TO YOUR 
RAM MOUNTING SYSTEM. USE 

APPROPRIATE LENGTH SCREW FOR 
YOUR MOUNTING SYSTEM.

PARTS INDEX:
A. TAB-TITE™ SPRING TRAY (QTY. 1)
B. TAB-TITE™ END CUP (QTY. 2)
(CUPS MAY VERY DEPENDING ON TAB-TITE™ VERSION)
C. #4 X 3/8” SHEET METAL SCREW (QTY. 10)
D. RAM MOUNTING HARDWARE PACK (QTY. 1)

National Products, Inc. 8410 Dallas Ave S. Seattle, WA 98108 
206-763-8361 www.rammount.com

ALIGN (B) END CUPS WITH HOLES ON EACH 
END OF (A) SPRING TRAY. SECURE CUPS TO 
SPRING TRAY USING (C) SCREWS.
DO NOT OVER-TIGHTEN SCREWS

A BC
D

RMR-INS-AC

USE MOUNTING SCREWS AND NUTS 
PROVIDED IN (D) HARDWARE PACK 

TO ATTACH TAB-TITE™ TO YOUR 
RAM MOUNTING SYSTEM. USE 

APPROPRIATE LENGTH SCREW FOR 
YOUR MOUNTING SYSTEM.

National Products, Inc. 8410 Dallas Ave S. Seattle, WA 98108 206-763-8361 www.ram-mount.com

RMR-INS-TABD14

1. INSERT iPAD INTO HOLDER 
(HOLDER DESIGN MAY VARY)

2. INSERT LIGHTNING CONNECTOR CABLE. 
VERIFY THAT YOUR iPAD RECOGNIZES THE 
CABLE AND IS PROPERLY CONNECTED.

3. ASSEMBLE SCREW & NUT, CLAMPING LIGHTNING CONNECTOR IN PLACE. 
CHECK ASSEMBLY PERIODICALLY, RE-TIGHTEN SCREW AND NUT AS NEEDED.

INCLUDED WITH YOUR HOLDER:

#4-40 X 3/8” MACHINE SCREW (QTY. 1)
#4-40 NYLOCK NUT (QTY. 1)

LIGHTNING CONNECTOR 
DOCK CONVERSION INSTRUCTIONS

National Products, Inc. 8410 Dallas Ave S. Seattle, WA 98108 
206-763-8361 www.rammount.com

RMR-INS-TABD14

1. INSERT iPAD INTO HOLDER 
(HOLDER DESIGN MAY VARY)

2. INSERT LIGHTNING CONNECTOR CABLE. 
VERIFY THAT YOUR iPAD RECOGNIZES THE 
CABLE AND IS PROPERLY CONNECTED.

3. ASSEMBLE SCREW & NUT, CLAMPING LIGHTNING CONNECTOR IN PLACE. 
CHECK ASSEMBLY PERIODICALLY, RE-TIGHTEN SCREW AND NUT AS NEEDED.

INCLUDED WITH YOUR HOLDER:

#4-40 X 3/8” MACHINE SCREW (QTY. 1)
#4-40 NYLOCK NUT (QTY. 1)

LIGHTNING CONNECTOR 
DOCK CONVERSION INSTRUCTIONS

National Products, Inc. 8410 Dallas Ave S. Seattle, WA 98108 
206-763-8361 www.rammount.com

RMR-INS-TABD14

1. INSERT iPAD INTO HOLDER 
(HOLDER DESIGN MAY VARY)

2. INSERT LIGHTNING CONNECTOR CABLE. 
VERIFY THAT YOUR iPAD RECOGNIZES THE 
CABLE AND IS PROPERLY CONNECTED.

3. ASSEMBLE SCREW & NUT, CLAMPING LIGHTNING CONNECTOR IN PLACE. 
CHECK ASSEMBLY PERIODICALLY, RE-TIGHTEN SCREW AND NUT AS NEEDED.

INCLUDED WITH YOUR HOLDER:

#4-40 X 3/8” MACHINE SCREW (QTY. 1)
#4-40 NYLOCK NUT (QTY. 1)

LIGHTNING CONNECTOR 
DOCK CONVERSION INSTRUCTIONS

National Products, Inc. 8410 Dallas Ave S. Seattle, WA 98108 
206-763-8361 www.rammount.com

RMR-INS-TABD14

1. INSERT iPAD INTO HOLDER 
(HOLDER DESIGN MAY VARY)

2. INSERT LIGHTNING CONNECTOR CABLE. 
VERIFY THAT YOUR iPAD RECOGNIZES THE 
CABLE AND IS PROPERLY CONNECTED.

3. ASSEMBLE SCREW & NUT, CLAMPING LIGHTNING CONNECTOR IN PLACE. 
CHECK ASSEMBLY PERIODICALLY, RE-TIGHTEN SCREW AND NUT AS NEEDED.

INCLUDED WITH YOUR HOLDER:

#4-40 X 3/8” MACHINE SCREW (QTY. 1)
#4-40 NYLOCK NUT (QTY. 1)

LIGHTNING CONNECTOR
DOCK CONVERSION INSTRUCTIONS


	Page 1

